
  1 

Quality for Professionals 
 

Installation instructions, quad bracket (height adjustable)Installation instructions, quad bracket (height adjustable)Installation instructions, quad bracket (height adjustable)Installation instructions, quad bracket (height adjustable)    
 
 
The height-adjustable quad bracket consists of the following parts: 
 

1. Fastening strut   2 units 
2. Mounting frame   1 unit 
3. Fastening frame   1 unit 
4. M16x100 bolt   2 units 
5. M16 washer   4 units 
6. M16 lock nut   2 units 
7. Fastening plate   8 units 
8. U-bolt fasteners   4 units 

(including 8 x M8 lock nuts) 
9. M8x100 hexagonal bolt 8 units 
10. M8 lock nut   8 units       
 

The height-adjustable quad bracket is fitted as follows: 
 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig.:  1 Fig.: 2 

Fig.:  3 

1. 

2. 

3. 

  Order No.: 00600-3-342 

4. 5. 6. 

8. 

7. 

9. 

10. 



2 
Quality for Professionals 

 

 
The holes on the fastening frame (fig.: 3) can be used to select the fitting surface 
height (fig.: 4 & 5).  
 
 
ATTENTION:ATTENTION:ATTENTION:ATTENTION: WD devices must be fitted as deeply as possible. 
 
 

 
    
    
ATTENTION:ATTENTION:ATTENTION:ATTENTION: The lighting and registration plate must always be clearly visible on 
public roads. 
 
 
 

Combination Combination Combination Combination ppppossibilitiesossibilitiesossibilitiesossibilities::::    
 
 

Device typeDevice typeDevice typeDevice type    Permitted / possiblePermitted / possiblePermitted / possiblePermitted / possible    
KS 40 M2 YES  

ES 100 M1 Classic YES  
ES 100 M2 Special YES  

ZS 200 M3  NO 
WD 40 M2 YES  

WD 100 M3 YES  
WD 250 M2  NO 

 

Fig.:  4 Fig.:  5 


